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2 QU Write short notes on the followings (Any five]
R {al VED Analysis
4 (1) Differential piece wage system
) <) Machine Hour Rate
d) Chargable Expenses
(e} Activity Based Costing
1 Abnormal Gan
| Cost Plus Contract
. " ding to their
Q2 “Costs may be classified in a varicty of ways :ncxu:t-ngxnlc:ll:xfm! discuss
nature and wnformation needs of the management”. BXP TR C%qorent
2 this statement giving examples of classification (15)
purposes.
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© 3 Erom the following particulars, you are required to prepare  Cost
- Rs
Productive wages .. 50,000
- Raw materials ... 35,000 L0600
- Administrative expenses ... 10, 00
Sirect Expenses ... 7,500 Light and water ... 2
- Depreciation ... 1,500
- Factory Rent 000
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Indirect labour ... 25,000

tory repairs ... 2,500
gzlczu:g' nd distribution Overheads ... 4,000

Sales ... 1,50,000

in the year 2021. The
nstructuon contract in :
Excel L s r:za(:ofgo.ooo, At the end of 2021, the company as
contract PrICe A% %, ing 90 per cont of work certified. Work ¥ 0 70
received Rs. .90, 0 1y cost Rs. 10,000, Expenditure "E)?mmbour the
o x l:; the year was as follows: M;Aleniss Rs. ng(,)o“,“ bour B,
o 0 ) g . D, Ve A
Rs ) Materials costing Rs. 5. damage
000, Plant O Z‘A'?:‘Q,fhg: Re. 1,000, The plant is conm\;n’d‘ as
e ‘1‘1\1!’0\(' per cent Prepare contract Mm\r"'r“fror -t);m;ns
ing deprecieet i $lo be credited to Profit an
hx:: f:iﬁ:p xcel Lid. showing profits o be cre ose
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fication. Explain the fixed, \'lu'ld’i);:
1a in detail with suitable examples. (15)
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e processes. UUnng g
nsecutive Pr
o| “f the basic raw material wag
cmation for the month was as

A product is completed in three
particular month the mput to Process
5,000 umts at 2 per umt. Other
follows:

Particulars Process |
Output units) 4,700
Normal loss {as % of mput) | 5%
Scrap value per umt (Rs,] | 1

Overhead Rs. 32000 towl, chargeable as percentage of direct wages.
There were no opening or closing workin-progress stocks. Compile three
process and finished stock account with details of abnormal loss and
gain. where applicable. (15)

al The foliowing transactions took place in respect of material x durning
the month of January 2020:

Jan 1 - Opening stock 50 tons at Rs. 1000 per ton

Jan 2 - Issued 30 tons

Jan 6 - Received 60 tons at Rs. 1100 per ton

Jan 9 - Issued 25 tons (Stock verification reveals loss of one ton]

Jan 10 - Received back from orders 10 tons (previously issued at Rs

990 per ton)

Jan 11 - Issued 40 tons

Jan 22 - Received 22 tons at Rs. 1200 per ton

Jan 31 - Issued 33 tons

'i"vyumar: required to write up the stores ledger Account under the LIFO
Metho :

A company estimates its carrying costs at 1
at Rs. @ per order. The estimated annual re
ata price of Rs. 4 per unit.

5% and its ordering costs
quirement is 48,000 units

ost economical number of units to order? m
orders should be placed in a vear? 8)
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i) Halsey plan (i) Rowan P!
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